Worksheet: Azar: Understanding and Using English Grammar, Charts 10-10

Modal Passive Practice I

Example:


modal + be + past participle


modal + have + been + past participle


The law should be obeyed.


The law should have been obeyed.


Make sentences with the verb in parentheses.

1.  Jay expects to get a job soon.  (offer)

2.  I’m almost sure she was injured by a car.  (hit)

3.  Maybe the house was there 200 years ago.  (build)

4.  It’s impossible that Jay got an invitation to the party.  (invite)

5.  It would have been a good idea to mail the letter by Federal Express.  (send)

6. The class needs to be made smaller.  (divide)

Modal Passive Practice II

Make sentences with the verb in parentheses.

1.  I expect the videos to be completed soon.  (finish)

2.  Maybe that car was built in Italy.  (make)

3.  I’m almost sure I paid the bill.  (pay)

4.  It would have been a good idea to make the bread last night.


(bake)

5.
It’s impossible that you spent all of the money.  (spend)

6.
The faucet needed to be fixed.  (repair)
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